N of reco track vs dxy

[N of associated (recoToSim) tracks vs dxy

N of associated (recoToSim) looper tracks vs dxy

1%} (%] %] [%]
x x < B4
[*] L Q [=] o
g, g . g S
T10°F ol0'F @103 ©
3 El: £° 5t
I [ =
10°F 10°F 3
3 3 10?
10°F 10°F
[ [ 10
10F 10f-
1= - H
o t # o 1 ST AT TRRTAY]
o - —
g ~BeBoR0pa1 519 al—manNst 1o83imeRECS
24 T 0 v T
0.8F- 0.8 - - 0.8
06f--7--m---i- : FEEPITRS 06f--r--a---1--<f3-> FEEPITES L e RREARE I | A D EEEPPRrrEs: L
-25-20-15-10-5 0 5 10 15 20 25 -25-20-15-10-5 0 5 10 15 20 25 -25-20-15-10-5 0 5 10 15 20 25 -25-20-15-10-5 0 5 10 15 20 2
track dxy (cm) track dxy (cm) track dxy (cm)
N of reco track vs dz [N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
2 L 2
Q [=] [5)
g s s
3 3 Q
£° &0 £
g
S
3
10? 102
10 10
1 1
o " 2.4 °
819 &g &
1 1.2]
0.9 1 + - X
0'—‘30 -20 -10 0 10 20 30 O'—‘iO -20 -1 0 10 20 30 =30 -2 -10 10 20 30

track dz (cm)

track dz (cm)

track dz (cm)

track dxy (cm)

5

track dz (cm)

-30 -20 -10 O 10 20 30



	Contents
	Page 1


